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Five advocates G, N, M, L and A are sitting around a circular table facing towards the 
centre (not necessarily in the same order). A is sitting between G and L. M is second to 
the right of L. G is towards the immediate left of A. Who is sitting second to the left of A?
(a) M  (b) G  (c) L  (d) NN

A

↓

N -

⑭ 1 TG

&
-

G
·

A

#



Seating Arrangement

↳-t& ↓
Outwards :Inwards Right : Anticlock. -Right :

Clockwise

Left : clock. Left: Anticlockwise



Six scientists R, L, T, S, N and P are standing in a row facing towards north (Not 
necessarily in the same order). N is standing to the immediate right of R. S is standing 
second to the right of P. Two scientists are standing between T and N. S is towards the 
left of L. Which of the following is correct about the position of L?
(a) Between R and N
(b) Third to the right of R
(c) L is at one of the end
(d) Towards the immediate left of N

N
--

P- S

- · 111111
Fight SR N

.
L

R-> N 1111
-

↳ PTSRN *
-

Right *



Five persons H1, H2, H3, H4 and H5 are sitting around a circular table facing towards the 
centre (Not necessarily in the same order). H4 is third to the left of H2. H3 and H1 are the 
immediate neighbours of H2. H5 is to the immediate left of H3.
(a) H2 (b)H4 (c)H5 (d) H3
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Six sellers G, H, J, K, C and M are sitting around a circular table facing towards the 
centre (not necessarily in the same order). M is second to the left of C.
H is to the immediate right of G. K is second to the right of J. C is to the immediate left of 
K. Which of the following pair of sellers represents the immediate neighbours of J and G 
respectively?
(a) CK, HM
(b) CM, HM
(c) KH, MC
(d) CM,KH
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Among five rods P, Q, R, S and T, S is lengthier than T. R is shorter than P. Q is lengthier 
than S. P is lengthier than only one rod. Which rod is second lengthiest among all the 
rods?
(a) S  (b)T  (c)P  (d) Q
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Amrit is older than Vikrant. Shanaz is older than Joya. Ketan is younger than Joya. Vikrant is 
older than Shanaz. Who is the youngest in the group?
(a) Shanaz  (b) Ketan  (c) Joya  (d) Vikrant
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Six persons P, Q, R, S, T and U are standing in a circular form. U is standing between S 
and T. T is not standing adjacent to P. P is standing between S and R. Who is standing 
between T and R?
(a) U 
(b) P 
(c) Q 
(d) S
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Five friends' houses are located in an straight line. Amit's house is not near Dipesh's 
house. Shayana's house is between Brinda's and Sheetal's house. Brinda's house is 
between Shayana and Dipesh. Whose houses are located near Sheetal?
(a) Shayana and Brinda
(b) Amit and Dipesh
(c) Amit and Shayana
(d) Amit and Brinda
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Six friends A, B, C, D, E and F are standing in a row. B is exactly in between F and D. E 
is standing in between A and C. A is not a neighbor of D and F. C is not a neighbor of D 
but the immediate right of F. In between which of the following pairs, is F standing?
(a) C and A
(b) B and C
(c) B and A
(d) B and D
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Six boys are sitting around a circular table facing centre. M is second to the right of K who 
is sitting opposite to F. L and O are sitting opposite to each other. Neither L nor R is sitting 
near F. Who is sitting opposite to R?
(a) F (b) K (c) O (d) MO
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Radhika ranks sixteenth from the top and thirteenth from the bottom in a certain 
examination. How many students are there in the class?
(a) 27 (b) 29 (c) 28 (d) 30
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Four students are sitting on a bench in a classroom facing North. Sarita is sitting to the 
left of Raman. Manish is sitting to the right side of Raman. Rakesh is sitting between 
Raman and Manish. Who is sitting in the second position from the left hand side on the 
bench?
(a) Manish
(b) Sarita
(c) Rakesh
(d) Raman
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Four friends are playing carrom and sitting on the four sides of the carrom board. B is on 
the right of C, D is to the left of A. Who is sitting to the left of C?
(a) Data inadequate (b) D  (c) B  (d) AO
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